fif R = ERIRABUR LS e H P B e (e 2R A S B — 3R

A R e

(FEKi6515%)
B~ 2HfE - EYA - REE - BRE - EEISRELLAIIGE - BT - M (R - R - SRR - AL
- oy e o L b - BHERGE - P
| RETEEA |, RNEERE - AR EE LI RE e ~ H R _
Sl (7N B PR - S T s RS | g
% ; W | WRBDEE | AR | ueeman | WREDEE | A% | wemam | WD | BE% s o
o, ENE ENE e hodisa
’ b EE
R A e 25,000 0 20,000 0 12,500 0
. e 85 21,250 3,750 17,000 3,000 10,625 1,875
o 2{%%5&&34& 70 25,000 17,500 7,500 20,000 14,000 6,000 12,500 8,750 3,850 N
# |3fELIEAEEARE | 60 15,000 10,000 12,000 8,000 7.500]  5.000| e | e
# |41zl kSRS | 50 12,500 12,500 10,000{ 10,000 6,250  6,250]s:
5fz D _FAizefz | 40 10,000{ 15,000 8,000 12,000 5,000 7,500
6fZLL F 0 o| 25,000 o| 20,000 o| 12,500
1.4 A Y& %E% 125,0007C Fys T EAREE -
2 MBI ERIERE Rk | B O ERGEF S S (SRR L A B F A ) Y -
B EEEETHIERE > EE DL 25,0007 ¢ FE £520,0007T 5 € £512,5007T ©




